What knowledge about specific mathematical objects, representations, statements, procedures, and connections would be useful?  What knowledge is useful to successfully complete actions such as investigate, connect, explain, extend, …?

My method/rationale:  Look at the situation with the entity list and:

1—find entities in the situation by breaking down the list by area

2—review the situation—is there anything on the entities list that is not obvious or explicit in the situation?  Is there anything missing from the entities list? (solutions.  See below)

When there started to be lots of repetition, I attempted to shift towards identifying knowledge

MAC-CPTM Situations Project

Situation 10: Simultaneous Equations

Prompt

A student teacher in a course titled Advanced Algebra/Trigonometry presented several examples of solving systems of three equations in three unknowns algebraically using the method of elimination (linear combinations). She started another example and had written the following


[image: image1.wmf]
when a student asked, “What if you only have two equations?” 

Entities believed to be present:

Objects:  system, equation, unknown

Representations:  algebraic, graphical, symbolic, matrix, transferability

Statements:  examples, conjecture, constraints

Procedures:  algorithm, reasoning

Connections:  systems as models;

Commentary

Knowing necessary and sufficient conditions for unique solutions to systems of linear equations is important in this situation. The foci build from systems of equations in two variables to systems of equations in three variables, and examine why n independent equations are necessary to produce a unique solution to a system of equations in n variables. Systems of linear equations in two or three variables may be consistent or inconsistent and dependent or independent. If a system of linear equations is inconsistent, the equations will have no solutions in common. If a system of linear equations is independent, not all solutions for one equation are solutions for all of the other equations in the set. The foci use physical models, symbolic representations, graphical representations, and matrix representations to examine systems of linear equations with unique solutions, infinite solutions, and no solutions. 

Mathematical Foci

Mathematical Focus 1 

Entities believed to be present:  there is a lot of information throughout the foci and some questions raised.

Objects: equation, linear combination, transformation, transferability

Representations:  variable; symbolic

Statements:  examples, solutions (this is not on the list and seems to me to be missing.  The foci of this situation are all explained through possible solutions, and it seems that knowing about and how to employ solutions is not unlike such other as equations or examples, and may be a specific form of example),

Procedures:  algorithm, strategies

Connections:  

Questions:  where does “unique” come into play—is it knowledge or another entity issue?  Is there a better/clearer way to explain why foci 1 and 2 “ignore” the 3rd value in the ordered triple?

Solutions to equations are invariant under linear combinations.

If two equations in two variables x and y,     



ax + by + c = 0    and  dx + ey + f = 0

are in a linear combination



A(ax + by + c) + B(dx + ey + f) = 0

then any point (x, y) that satisfies the original equations will satisfy the linear combination.   Similarly, for a linear combination of two equations in three variables, any solution (x, y, z) to the original equations will also satisfy the linear combination.  

Thus, if one of the two equations is replaced by a linear combination, the solution is the same; the solution is invariant.   

The purpose of the following example is to provide an intuitive sense for why solutions to equations are invariant under linear transformations. The included example is similar to examples found in the ancient Chinese text Jiu Zhang Suanshu (JZSS) or The Nine Chapters of the Mathematical Arts and many early Babylonian mathematical texts. 

Two ropes have different lengths, and the sum of their lengths is 10 meters.  To measure the length of a 46-meter bamboo rod requires 3 lengths of the first rope and 7 lengths of the second rope.  Determine the length of each rope.
Letting x represent the length of the first rope and y the length of the second rope, the sum of the lengths of the rope can be expressed symbolically as 
[image: image2.wmf]. Since many combinations of values for x and y satisfy this equation, this one equation does not supply enough information to find a unique solution. 

A second equation is needed to determine a unique value for the length of each rope. Since measuring a 46-meter bamboo rod requires 3 lengths of the first rope and 7 lengths of the second rope, a relationship between the lengths of the first and second rope can be expressed symbolically as 
[image: image3.wmf]. 

Knowledge issues:  need knowledge of equations, variables and representations.

Using length models to represent the equations 
[image: image4.wmf] and 
[image: image5.wmf]:

[image: image6.wmf]

[image: image7.wmf]
Because the sum of one length of each rope is 10m, the sum of three lengths of each rope would be 30m. This relationship could be expressed symbolically with the equivalent equations 
[image: image8.wmf] and 
[image: image9.wmf]. Using length models to represent the equations 
[image: image10.wmf] and 
[image: image11.wmf]:

[image: image12.wmf]


[image: image13.wmf]
Since 
[image: image14.wmf] is equivalent to 
[image: image15.wmf], we can express the lengths of each rope with the system of equations 
[image: image16.wmf] and 
[image: image17.wmf]. Using length models to represent the equations 
[image: image18.wmf] and 
[image: image19.wmf]:

[image: image20.wmf]    [image: image21.wmf]
By comparing the top rope with the bottom rope in each representation, four lengths of the second rope must equal 16 meters, and therefore one length of the second rope is 4 meters. Expressed symbolically:

Knowledge:  being able to develop the representation and use it to compare.

[image: image22.wmf]
Hence, a unique length for the first rope exists, namely 6 meters. 

Mathematical Focus 2

Knowledge:  it strikes me that this is all about knowledge of graphical representations of lines and equations and the relationships that can be shown with them using a Cartesian plane.  It involves geometric representations and an understanding of the relations among them—coincidence, dependence, independence, inconsistent, parallel—and their meanings
Two equations with two variables will have a unique solution if they are consistent and independent.  

A linear equation in two variables is the equation of a line in the plane and therefore has an unlimited number of solutions. 

[image: image23.wmf]
[image: image24.wmf]
Two equations have a unique simultaneous solution in the lines they represent intersect and are not coincident.   Such equations are consistent and independent.

[image: image25.wmf]
[image: image26.wmf]    and   [image: image27.wmf]
There is no solution if the lines are parallel and not coincident.   Such equations are inconsistent; they have no common solution.

[image: image28.wmf]
x + y = 3    and   x + y = 5

There are an unlimited number of solutions if the lines are coincident.   Such equations are consistent but dependent; they have all solutions in common.

[image: image29.wmf]
x + y = 3     and    2x + 2y = 6

Mathematical Focus 3

Entities: Statement:  mathematical problem statement:  has the statement of the problem been consistent?

Knowledge:  This focus brings in some new knowledge issues:  behavior of systems of dimensions other than 2; spatial relations in 3 dimensional space, or R3; knowledge of graphical representations in multiple dimensions (which is different than in the x-y plane).  

Questions:

Knowledge of mathematical terms/vocabulary/language—where does it fit into the scope and sequence of knowledge vs. the entities?

Where does this fit:  the ability to consider multiple perspectives of a single problem or situation?

A system of two linear equations in three variables may be consistent or inconsistent. A system of three linear equations in three variables may have no solutions (i.e. inconsistent), an infinite number of solutions  (i.e. consistent and dependent), or a unique solution (i.e. consistent and independent). 
A graphical representation of the points whose coordinates satisfy a linear equation in three variables is a plane. A graphical representation of the solution of a system of two or three linear equations in three variables would be the intersection of the two or three planes representing the solutions of each of the three equations.

Two planes will either be parallel or intersecting, as illustrated in figures 1 and 2. 


[image: image30.wmf]
[image: image31.wmf]

Figure 1: Two parallel planes
Figure 2: Two intersecting planes

When two planes are parallel, as shown in Figure 1, and the system of two equations is inconsistent and has no solution.  When the planes intersect in a line, as shown in figure 2, all the points on the line of intersection of the two planes are solutions and the system has infinitely many solutions, the equations are consistent but not independent.  Without a third plane to intersect that line of intersection, there is no unique point of intersection. Thus, a system of two equations in three unknowns cannot have a unique solution.

The three planes represented by equations with three variables will either be parallel or can intersect in several ways, as illustrated in figures 3 through 7.    The cases where two or more of the planes coincide are not shown here.  

When all three planes coincide the equations are consistent but not independent.  There are an infinite number of solutions.   When two of the three planes coincide, the result is depicted in figure 1 (if the third plane is parallel) or in figure 2 (if the third plane intersects).     


[image: image32.png]
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Figure 3: Three parallel planes             
Figure 4: Three planes, 



two of which are parallel


[image: image34.png]
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Figure 5: Three planes intersecting
Figure 6: Three planes intersecting 


pairwise in three parallel lines
in a line 

[image: image36.wmf]
Figure 7: Three planes intersecting in a point

In figure 3, figure 4, and figure 5 the equations are inconsistent and thus no solutions; in figure 6 the equations are consistent but not independent and thus an infinite number of solutions; and in figure 6 the equations are consistent and independent and there is a unique solution.

Mathematical Focus 4

Knowledge:  use of matrices and all that is related to it; matrix represneations of equations and systems of equations; matrix operations; Gaussian elimination; consideration of other possible approaches to solving systems 

Systems of linear equations are often solved by matrix methods. Matrix methods can also be used to determine if equations are consistent or independent.

One technique involves multiplying the inverse of the coefficient matrix and the matrix of constants, in that order.  The determinant of the coefficient matrix must be non-zero for the equations to be consistent and independent and thus have a unique solution.

In the case of a system of two equations with three unknowns, the 2x3 coefficient matrix is not a square matrix. Thus the coefficient matrix does not have an inverse and a unique solution does not exist.  However, that does not necessarily mean that no solution exists.

If the system of two equations with three variables is consistent, finding a set of infinite solutions may be accomplished by performing Gaussian elimination on the augmented matrix of coefficients and constants. Consider the general case of a system of two equations in three variables:


[image: image37.wmf]
Performing Gaussian elimination on the augmented matrix of coefficients and constants gives the augmented matrix:


[image: image38.wmf], where 
[image: image39.wmf] are constants.

The augmented matrix represents an equivalent system of two equations in three variables:


[image: image40.wmf]
or

[image: image41.wmf]
These equations indicate that, although the values of x and y depend on the value of z, the value of z is arbitrary.  Hence, a system of two equations in three variables may have many solutions.

This method or its matrix equivalent assumes that a1b2 – a2b1 , b1c2 – b2c1 , and a1c2 – a2c1 are not all equal to zero in order to have consistent equations.
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